
1.	 Carabiner clip, 2 pcs
2.	 Lifting loop nuts M6, 2 pcs
3.	 Lock plate, 2 pcs
4.	 M6x16 hex socket screw, 2 pcs
5.	 M5x12 hex socket screw, 4 pcs

1.	 Karbiinihaka, 2 kpl
2.	 Nostosilmukka M6, 2 kpl
3.	 Lukkolevy, 2 kpl
4.	 M6x16 6-koloruuvi, 2 kpl
5.	 M5x12 6-koloruuvi, 4 kpl

1.	 Karbinhake, 2 st.
2.	 Lyftögla M6, 2 st.
3.	 Låsplatta, 2 st.
4.	 M6x16 insexskruv, 2 st.
5.	 M5x12 insexskruv, 4 st.

1.	 Mousquetons, 2
2.	 Anneaux avec vis M6, 2
3.	 Plaques de règlage, 2
4.	 Vis 6 pans creux M6x16, 2
5.	 Vis 6 pans creux M5xM12, 4

6022 Wire bracket

I-Valo Oy  |  14500 IITTALA  |  FINLAND  |  Tel.  +358 10 501 3000  |  www.i-valo.com 

60
22

 As
en

nu
so

hje
 3/

20
18

1

2

3

45 5

EN

FI

SV

1.	 Karabinerhaken , 2 St.
2.	 M6 Tragösen, 2 st.
3.	 Sicherungsplatten, 2 st.
4.	 M6x16 Innensechskantschrauben 2 st.
5.	 M5x12 Innensechskantschrauben 4 st.

DE

FR

I-Valo Item No. 6022.000.00
Snro 43 004 17



I-Valo Oy  |  14500 IITTALA  |  FINLAND  |  Tel.  +358 10 501 3000  |  www.i-valo.com 

60
22

 As
en

nu
so

hje
 3/

20
18

6022 Wire bracket
I-Valo Item No. 6022.000.00
Snro 43 004 17


